Total number of prfnted pages—15

4 (Sem-1/CBCS) BUSL

2022

COMMERCE

(Honours)
Paper : COM-HC-1026
(Business Laws)
Full Marks : 80

Time : Three hours

The figures in the margin indicate
SJull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct answer of the following :
(any ten) 1x10=10

FrRre REsPTRS sy o5 Tec! AR SISl &
(Riezpieat 72519)

(a) An expression of interest to buy a
showcase item from a shopkeeper is

a/an

Contd.



()  acceptance / Figpe
(i) - request / Sty
(iii) choice / sizw

(iv) offer / awr

(b) The Indian Contract Act, 1872 came
into force on

SRS P Wiz, Svas < qee 12T
{l} 1st Ja_nuary, 1872
> QIS Stag

(@  1st April, 1872
> GfEe, shqs

(i) 1st July, 187,

> G, Stay

(iv) 1st Septernber, 1872
> (BC¥FS, Sbqy
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(c) An agreement to procure a government
job is a/an

i SRR e S AR I TS

(i) illegal agreement
(Y TVIB

(it) unenforceable agreement
RS sy IS

*. (iii) void ‘agreement

| (iv) voidable agreement
(d) A contract of indemnity is &

o579 pie 9ol :

(i) future contract
Sfe §ie

(ii) wagering contract
QA e

(i) contingent contract
Tl AT e

(iv) quasi contract

g e
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(e)

4 (5‘3’“’1/c

Rl TS AN FY 2@iee 7

(ll } in future

(iii) both, at present and in futy
re

. @QW.W B EIIRES AS] g2

In an agreement to sell '
" , the I
goods is transferred kel

pa

GO

I EEICS)

GO WF SRS, TriGE
(iv) None of the above
G OIS TR

The provisions regarding max;
aumber of members in a part o
e nershi

SR 4 W2 T
0 the Contract Act .
. pfes i

(i) the Companies Act
{ ¢l

Partnershj

il the 1p Act
Al
the Societies Registration Act

(iv)
AR AGITI e

pes) BUSHS 4



() Reconstitution of partnership firm

(h)
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requires

IR eifePiag sjFafond e

(i) 1n case of admission of partners
AR e CFaS '

(i) 1in case of expulsion of partners
SeviEs ARFLE CFAO

(i) in Case of retirement of partners‘
ST SRS (R

(iv) Al of the above

@oTH AFCEIEN

Who appoints the Central Information
Commission ?

c@@ﬂ@%@q@@mﬁv{%ﬁm

©

)

(ifi)

(iv)

The President of India
Siged qEAT® '

The Prime Minister of India
Glaed LA

The Chief Justice of
Supreme Court

Sovow e 20 DA
None of the above

9IS bl 2T
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0)

(k)

The Rights to Information Act, 2005
came into force on

200¢ b AR SRR ST RS (2R
@ 12th July, 2005

53 GEIR, 00¢
(i) 12th August, 2005

5% 58, 006

(i) 12th September, 2005
52 (brdFd, R00¢

(iv) 12th October, 2005
52 Sl(2RE, Yoo¢

All agreements are contracts.
FPCANCEN THEES, His |

(i) Correct [/ ©q

(i) Incorrect / Syg

An agent cannot work for more than
one principal.

el OIfEF I Tfew qw o BREAE
o A7 GRS | :

(i) Correct / @&

(ii) Incorrect / &R
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|
|
|

i i nt.
() A minor can appoint an 2s¢

% G R efeRE et R A

l B

" (i) Correct

1 R

| (ii) Incorrect
\ O

tract.
ok (m) Sale is not an executed contt

‘! Rl @bt FAiifrs pfE T2
| (i) - Correct
v B

(i) Incorrect

o BT

' : er
(n) In case of defective delivery, the buy
can reject the goods.

Byl T CFaS, (PR AT a-ﬂnmasﬁ?
SIGH

(i) Correct
B

(i) Incorrect

B[

: Contd.
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(o) Registration of limited liability
partnership shall be with the Registr
of Companies.

AT Sbe e wifed

e SR A e v
[l} Correct
wa ,
(i) Incorrect
IRK
A bill of exchange can be crossed.
(p) e R GRS SR i
) G
1] E
i) Incorrect
ekl
A chequc needs acceptance,
el PO e |
7Y
(i) Correct
Kl
7) Jncorrect
i
( T
8
m-1



(r) Partial endorsement is valid.
R SPIE ([ RIRE |
(i) Correct

Y=

(ii) Incorrect

R

| 9., Answer any five of the following questions

in brief : 2x5=10

WWWW@—%%m

| (@) What is an offer?
f 21 DI QI 2
| :
| (b) Write two differences between
agreement and contract.
IR OE Biesg Eo 5{?{ el il

(¢) Write two- elements of 2 contract of

indemnity.
oo pea 7 GeAm 1
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(d) Write two liabilitie
S of Sul‘ety

(€)

@)

()

()

4 (Sem— 1/CB

What is contract of saje o

Rl pie TP e 2

Write two differences O
bailment. : Ween sale and

G e TIF o pfe _
Bl mwgr;yqn%]

Write two differences pe
partncrship and compg tween
ny.,

AR AR O P e ;
. o)

fral | i

Who are the parties o
note ? ‘ A promissory,

ofeero 70 TR i

Wwrite two differenceg »
etw

liability pATtierSip and ¢ €N limited

S T AR i OMpany.
cs) BUSL/© L0




() Write two essential features of

3. Answer any four of the following questions :
5x4=20

WWWWWW%

(a) Briefly state the essential clements of

4 valid contract.

tazzg?@%uwﬁﬁﬂ@qmmﬂﬁmaﬁm

=41 |

(b) Explain the duties of bailee.
sz e Ol

(c) Briefly discuss with examples the rules

relating to contingent contract.

WWEWWWx i

(d) Distinguish between sale and

agreement to sell.

ﬁﬁwﬁﬁtm@amoﬁ@m\ml
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(e) State the features of [im:
i i o
partnership. fited Ilablhty‘

i Wi ST
o ﬁ%%rmzaﬁwaﬁ

‘State the essenti
partnersh1p_

GRS ARRRSIOE
b W@Wmﬁj

(g) Distinguish between L
and cheque. . Omis

Ao A SE BT e sy o
A0

n) Briefly explain the g;
@ € differep
endorsements.

AT o
RS

SOry note

kinds of

Answer any four of the ol

in 600 words each : ng quéstions

10x4=40

R o7 firse
e 9% T ¢ T fore
¢ is contract?
types Of conkiact e Various
pfe e @Kﬂ?ﬁ%ﬁm% 2+8<10
12 qﬁ“ﬁﬁﬂ
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(b)

(¢

(@

e)

4 :

What is void agreement? Discuss the
different types of void agreements under

the Indian Contract Act, 1872.
2+8=10

Spasq ST [IoA Sl Sifos THISTTIR
ScEipal <4l |

uss the rights and duties of an

Disc
6+4=10

agent.

o AffifE SfEes e FEGIAR SNCLl
<41 |
Discuss the rights of surety. °

SRR SRR Dl

Who is an unpaid seller ? Discuss the
rights of an unpaid seller. 2+8=10

.@Wmﬁﬂﬁ$6ﬁﬁﬁﬁ31Gﬁﬂ?ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁmiﬂ%

SERpReE. e T

State the essehtial clements of a
contract of sale. Briefly discuss the

rules regarding delivery of goods.
4+6=10



(@)

(h)

Expldin the procedures of registration
of partnership firm, Ajg, State the

~ benefits of registration of partnership

firm. 6+4=10

AT e A PRETErE ey

391 | F79I0 @Q‘éﬁmﬁtﬁf@é‘m AT Gy

el i

(i) Discuss the advantages of limited

S

liability partnership_
S T e
T T |

(ii) Distinguish betweep, i

) Mited Jiat;;
partnership anqg s erShiplablht;f

What is crossing of A Eo s
with examples the Vaip: N EXplain

CroSSil’lg of a CheQUE, S tYPeS of




ns of public

() State the ‘obligatio
the Right to

authorities under
Information Act, 2005.

Qooamﬁﬁﬁ@f@ﬁ@ﬁﬂw@m
7 it e T

14000
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